

A

$$\hat{A}^T C \hat{A} = \hat{A}^T W^T W \hat{A} = (W \hat{A})^T (W \hat{A}) = (W \hat{A}) \cdot (W \hat{A})$$

Erstet vektorprodukt $\bar{u} \cdot \bar{v}$ med $(W \bar{u}) \cdot (W \bar{v})$

Erstet vektorer \bar{u} og \bar{v} med $W \bar{u}$ og $W \bar{v}$

Vægtet. $A \bar{x} = \bar{b}$

Betragt $W A \bar{x} = W \bar{b}$ ikke vægtet

Normalisering $(W A)^T (W A) \bar{x} = (W A)^T W \bar{b}$

$$A^T C A \bar{x} = A^T W^T W A \bar{x} = A^T W^T W \bar{b} = A^T C \bar{b}$$

Normalgleichung

$$A^T C A \bar{x} = A^T C \bar{b}$$

Minimale Quadrate Lösung:

$$\hat{x} = \left[(A^T C A)^{-1} A^T C \right] \bar{b}$$

$$\Sigma_{\hat{x}} = \left[(A^T C A)^{-1} A^T C \right] \Sigma_{\bar{b}} \left[(A^T C A)^{-1} A^T C \right]^T =$$
$$(A^T C A)^{-1} A^T C \Sigma_{\bar{b}} C^T A (A^T C A)^{-1} =$$

$$\sigma_0^2 (A^T C A)^{-1} (A^T C A) (A^T C A)^{-1} = \sigma_0^2 (A^T C A)^{-1}$$

$$C = \sigma_0^2 \Sigma_{\bar{b}}^{-1}$$

$$C^T = C$$